
Valuation of inventories

The sale of inventory at a price greater than total cost is the primary source of income for manufacturing and retail businesses. 

Inventories are asset items held for sale in the ordinary course of business or goods that will be used or consumed in the production of goods to be sold.

A merchandising business ordinarily purchases its merchandise in a form ready for sale. It reports the cost assigned to unsold units at the end of the period as merchandise inventory. Only one inventory account, Merchandise Inventory, appears in the financial statement. 

Determining inventory quantities

Perpetual inventory system: purchases and sales of goods are recorded directly in the inventory account as they occur. No purchases account is used because the purchases are debited directly to inventory.

Periodic inventory system: purchases account is used to record acquisitions. The balance in the inventory account is unchanged during the period. At the end of the accounting period, a closing entry is made which debits the inventory account for the ending inventory amount and credits the inventory account for the beginning inventory amount.  

Cost of goods is determined by using the following equation: 

beginning inventory + net purchases – ending inventory.
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Harold Hosiner is the director of material for Conforma Foams Inc., a producer of
styrofoam forms used in floral and holiday decorations. Harold’s neighbor is Gerry
Burns, a junior executive with a local accounting and auditing organization. Gerry
recently moved to the area, so, to get acquainted, Harold invited him to his next
backyard cookout.

At the cookout Harold and Gerry began to talk shop. Gerry was enthusiastic
about his last two assignments, auditing a small plumbing distributor and a
producer of eyeglass frames. Gerry’s most interesting comments concerned inven-
tory valuations:

“From what I have seen in the past few weeks, I see no reason why all businesses
don’t switch to LIFO. The profits realized by our clients more than pay for our
services. With the economy the way it is today, we are recommending LIFO across
the board.”

Since Conforma was not using LIFO, Harold had some questions, but the
hamburgers had to be turned and Gerry began to mingle with other guests.

The next morning Harold sat in his office pondering the conversation of last
evening. He knew Gerry’s firm had a good reputation, and he thought Gerry was an
intelligent young man. Could a switch in inventory valuation policy improve
Conforma’s profit picture? Was Gerry’s experience applicable to Conforma? Harold
began to analyze these questions when he received a call from the director of
finance. This would be an excellent opportunity to begin discussions on the
feasibility of moving to LIFO.

1. Do you agree with Gerry Burns’s comments on LIFO?
2. What advice would you offer to Harold Hosiner?
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Basic issues in inventory valuation

The valuation of inventories can be a complex process that requires determination of 

1. the physical goods or items to be included in inventory

2. the cost to be included in inventory

3. the cost flow assumption to be adopted

 Cost flow assumptions: a framework for analysis
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The problem is which cost or costs should be assigned to the 6,000 units of ending inventory and the 4,000 units sold. The solution depends on what one wishes to accomplish. There are several acceptable alternative cost flow methods. 

These methods are based on different assumptions and accomplish different objectives. A suggested approach to selecting a method is as follows:

1. identify possible objectives to be accomplished

2. know the different acceptable methods, their assumptions, and how they work

3. evaluate the advantages and disadvantages of the different methods for achieving the objectives

4. choose the method appropriate to the situation and the objectives to be accomplished.

Objective of inventory valuation

The following general objectives are often associated with making a decision as to which inventory cost flow method to choose;

1. to match expenses (cost of goods sold) realistically against revenue.

2. to report inventory on the balance sheet at a realistic amount.

3. to minimize income taxes.

Cost flow methods of inventory valuation

The cost flow matches the physical flow of goods. 

First-in, First-out (FIFO)

The FIFO method assigns costs to goods sold in the order in which costs were incurred, that is, the cost of the first good purchased is assumed to be the cost of the first sold.
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When FIFO is used, the ending inventory and cost of goods for a period would be the same whether a periodic or perpetual system is employed.

An objective of FIFO is to approximate the physical flow of goods. The FIFO method very nearly represents specific identification. 

At the same time it does not permit manipulation of income because the enterprise is not free to pick a certain cost to be charged as an expense. 

Another advantage is that the ending inventory amount is close to its current costs. 

The ending inventory amount will be composed of the cost of the most recent purchases.

The basic disadvantage of this method is that current costs are likely not matched against current revenues on the income statement. The oldest costs are charged against current revenues on the income statement, which can lead to distortions in gross profit and net income. 

 Last-in, First-out (LIFO)

The LIFO method assigns costs on the assumption that the cost of the most recent purchase is the first cost to be charge to cost of goods sold. 

Using the data for Call-Mart, the assumption would be made that the 4,000 units withdrawn consisted of the 2,000 units purchased on March 30 and 2,000 of the 6,000 units purchased on March 15. Therefore, the cost of the ending inventory of 6,000 units would be assumed to come from the cost of any beginning inventory and then the earliest purchases in the period. 
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Major advantages of LIFO

Matching. In LIFO, the more recent costs are marched against current revenues to provide what may be viewed as a more realistic measure of current earnings.

Inventory profits occur when the inventory costs matched against sales are less than the replacement cost of the inventory. The cost of goods sold therefore is perceived to be understated and profit is overstated. 

By using LIFO more recent costs are matched against revenues and inventory profits are thereby reduced. 

Major disadvantages of LIFO

Reduced earnings: lower profits reported under the LIFO method, relative to other methods.

Inventory understated: the inventory valuation on the balance sheet is normally outdated because the oldest costs remain in inventory.

Physical flow: LIFO does not approximate the physical flow of the items.

Not acceptable for TAX purposes.

Which method to select?

[image: image8.jpg]Comparative Results of FIFO, Weighted-Average and

Partial Income Statement.
Sales Revenue
Cost of Goods Sold:
Beginning inventory
Purchases
Goods Avallable.

uct
Ending Inventory
Cost of Goods Sold
Gross Profit

Balance Sheet:
Inventory

Objectives:

1. Matching

2. Balance Sheet
Valuation

3. Income Tax
Minimization

“Results n a realistic accompiishment of obective relative to other methods.

LIFO Inventory Methods: Periodic System

Method

$ -0
43,400
$43,400

26600

$23200

$26,600

0id costs
against current
revenue

“Current” costs*

Results in higher
taxable income in
periods of

fising prices.

Weighted-Average

$40.000

17,360
$22600

$26040

Average cost
against current
revenue

Average cost

Best in Canada in
periods of rising
prices as results
i highest cost of
9oods sold next
o UFO*

uFo

“Current” costs,
against current
revenue®

Oid costs

Not allowed in
Canada in most
situations. I

ising prices.




Examples
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The periodic inventory record shown in Table 1 is available on an item. A physical
count of the items on 1 April reveals an ending inventory of 300 units. What is the
value of the ending inventory? What is the cost of goods sold for the period?

Table 1. Periodic inventory record (FIFO)

Date Type of Transaction Units Unit Price Total Cost

1 Jan. Beginning inventory 200 $1.00 $ 200
31 Jan. Purchase 300 1.10 330
28 Feb. Purchase 400 1.16 464

31 Mar. Purchase 100 1.26 126
Total 1000 $1120





[image: image18.jpg]A periodic count reveals that the ending inventory is 300 units.

Units Sold Unit Price Total Cost
200 $1.00 $200
300 1.10 330
200 1.16 232
700 $762
Ending Inventory Units Unit Price Total Cost
Feb. Purchases 200 $1.16 $232
Mar. Purchases 100 1.26 126
Total 300 $358

The cost of goods sold with FIFO is $762, and the value of ending inventory is
$1120 — $762 = $358 for 300 units.

EXAMPLE 2

From the perpetual inventory record in Table 2, what are the values of the ending
inventory and the cost of goods sold?

Table 2. Perpetual inventory record (FIFO)

Received Issued Balance
Unit  Total Unit  Total Unit  Total
Date Units  Cost Cost | Units  Cost Cost Units  Cost Cost
1 Jan. 200 $1.00  $200
31 Jan. 300 $1.10  $330 200 1.00 200
300 1.10 330
3 Feb. 200 $1.00  $200 100 1.10 110

200 1.10 220

28 Feb. 400 1.16 464 100 1.10 110
400 1.16 464
1 Mar. 100 1.10 110 200 1.16 232

200 1.16 232

31 Mar. 100 1.26 126 200 1.16 232
100 1.26 126

The cost of goods sold for the quarter under the perpetual system is $762
($200 + $220 + $110 + $232), and the value of ending inventory is $358 ($232 +
$126) for 300 units.
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The periodic inventory record shown in Table 3 is available on an item. A physical
count of the item on 1 April reveals an ending inventory of 300 units. What is the
value of the ending inventory? What is the cost of goods sold for the period?

Table 3. Periodic inventory record (LIFO)

Date Type of Transaction Units Unit Price Total Cost
1 Jan. Beginning inventory 200 $1.00 $ 200
31 Jan. Purchase 300 1.10 330
28 Feb. Purchase 400 1.16 464
31 Mar. Purchase 100 1.26 126
Total 1000 $1120
Units Sold Unit Price Total Cost
100 $1.26 $126
400 1.16 464
200 1.10 220
700 $810
Ending Inventory Units Unit Price Total Cost
1 Jan. Inventory 200 $1.00 $200
Jan. Purchases 100 1.10 110
Total 300 $310





Example average

[image: image20.jpg]The cost of goods sold with LIFO is $810, and the value of ending inventory is $310
for 300 units. Note that this same item under FIFO in Example 1 had a cost of
goods sold of $762 and an ending inventory of $358.

EXAMPLE 4

From the perpetual inventory record in Table 4, what are the values of the ending
inventory and the cost of goods sold?

Table 4. Perpetual inventory record (LIFO)

Received Issued Balance
Unit  Total Unit  Total Unit  Total
Date Units  Cost Cost | Units  Cost Cost | Units Cost Cost
1 Jan. 200 $1.00  $200
31 Jan. 300 $1.10  $330 200 1.00 200

300 1.10 330

3 Feb. 300 $1.10  $330 100 1.00 100
100 1.00 100

28 Feb. 400 116 464 100 1.00 100
400 116 464

1 Mar. 300 1.16 348 100 1.00 100
100 1.16 116

31 Mar. 100 1.26 126 100 1.00 100
100 1.16 116
100 1.26 126

The cost of goods sold for the quarter under the perpetual system is $778
($330 + $100 + $348), and the value of ending inventory is $342 ($100 + $116 +
$126) for 300 units. Note that this same item under FIFO in Example 2 had a cost
of goods sold of $762 and an ending inventory value of $358. It should also be
noted that generally differences in the cost of goods sold and ending inventory will
arise between a periodic inventory system and a perpetual inventory system when
using the LIFO method, in contrast with using the FIFO method.




[image: image21.jpg]The periodic inventory record shown in Table 5 is available on an item. A physical
count of the item on 1 April reveals an ending inventory of 300 units. What are the
values of the ending inventory and the cost of goods sold using the (a) simple
average, (b) weighted average, and (c) moving average?
a:
1.00 + 1.10 + 1.16 + 1.26
4
ending inventory value = (ending inventory)(unit cost) = 300(1.13) = $339,
cost of goods sold = (units issued)(unit cost) = 700(1.13) = $791.

simple average = = $1.13 unit cost,

4

X PO

i=1
N
1.00(200) + 1.10(300) + 1.16(400) + 1.26(100)

1000

weighted average =

$1.12 unit cost,
ending inventory value = (ending inventory)(unit cost) = 300(1.12) = $336,

cost of goods sold = (units issued)(unit cost) = 700(1.12) = $784.

Table 5. Periodic inventory record

Date Type of Transaction Units Unit Price Total Cost

1 Jan. Beginning inventory 200 $1.00 $ 200
31 Jan. Purchase 300 1.10 330
28 Feb. Purchase 400 1.16 464
31 Mar. Purchase 100 1.26 126

Total 1000 $1120






Case

[image: image9.jpg]Many of the important ideas and concepts discussed in Chapter 5 are reflected in the following list of key
terms. Test your understanding of these terms by matching the appropriate definitions with the terms. Record
the number identifying the most appropriate definition in the blank space next to each term.
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[image: image10.jpg]The difference between revenue and the cost of goods sold.

A method of accounting for inventories in which cost of goods sold is recorded each time a sale is made
and an up-to-date record of goods on hand is maintained.

A deduction from a list or catalogue price that is used to determine the actual sales price of goods.

A deduction from the invoice price granted to customers in return for early payment; that is, cash
discounts to customers.

Memorandum sent to notify its recipient that the sender has debited the recipient’s account in its
records.

An income statement on which cost of goods sold and the expenses are subtracted in steps to get net
income.

An abbreviation for the words end-of-month that is sometimes used in expressing the credit terms of a
sales agreement.

The nominal price of an item from which any trade di is to d the actual sales
price; also known as the catalogue price.
A financial statement that reports the changes in a corp s retained gs that occurred during

an accounting period.

The specified amounts and timing of payments that a buyer agrees to make in return for being granted
credit to purchase goods or services.

The agreed period of time for which credit is granted and at the end of which payment is expected.
Costs incurred by a purchaser for transporting purchased merchandise to its place of business.

Deductions from the invoice price of purchased items granted by suppliers in return for early payment;
that is, cash discounts from suppliers.

A memorandum sent to notify its recipient that the sender has credited the recipient's account in its
records.
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A method of accounting for inventories in which the inventory account is brought up to date once each
period; requires the business to count the items on hand at the end of the period.

The period of time during which, if payment is made, a cash discount may be deducted from the invoice
price.

An income statement on which cost of goods sold and operating expenses are added together and
subtracted from net sales in one step to get net income.

A deduction from the invoice price of goods that is granted if payment is made within a specified period
of time.

The axpenses of preparing and storing merchandise for sale, promoting sales, actually making sales,
and deli g goods to ct

Goods bought and sold to others.

Expenses that support the overall management and operations of a business, such as central office,
accounting, personnel, and credit and collection expenses.

The abbreviation for free on board, which is the legal arrangement for identifying the location (shipping
point or destination) at which the seller transfers ownership of purchased goods to the buyer; if the
terms are FOB factory (or shipping point), the buyer must pay the shipping costs; if the terms are FOB
destination, the seller must pay the shipping costs.

The collection of goods on hand waiting to be sold to customers.




[image: image12.jpg](PERIODIC VERSUS PERPETUAL ENTRIES) The Phoenix Company sells one product, the Wipplesnip.
Presented below is information for January for the Phoenix Company: s

Jan. 1 Inventory 100 units at $5 each
Jan. 4 Sale 70  units at $8 each
Jan. 11 Purchase 150 units at $6 each
Jan. 13 Sale 130 units at $8.50 each
Jan. 20 Purchase 150 units at $7 each
Jan. 27 Sale 110 units at $9 each

Phoenix uses the FIFO cost flow assumption. All purchases and sales are on account.

Instructions

() Assume Phoenix uses a periodic system. Prepare all necessary journal entries, including the end-of-month adjusting/
closing entry to record cost of goods sold. A physical count indicates that the ending inventory for January is

units.
(b) Compute gross profit using the periodic system.

(c) Assume Phoenix uses a perpetual system. Prepare all necessary journal entries.
(d) Compute gross profit using the perpetual system.





[image: image13.jpg]The inventory information for a product is given below:

Jan. 1 Inventory 12 units $15
Feb. 16 Purchase 8 units 16
Mar. 4 Purchase 15 units 18
Oct. 15 Purchase 10 units 20

After taking a physical count., we find that we have 14 units on hand. Determine the ending
inventory cost by the FIFO method. |




[image: image14.jpg]Assign a value to the ending inventory under FIFO using the following cost data:

Beginning inventory 200 units @ $10 = $2,000
First purchase 300 units @ 12 = 3,600
Second purchase 300 units @ 11 = 3,300

Available for sale 800 $8,900

An inventory count at the end of the period reveals that 450 units are still on hand.





[image: image15.jpg]Based upon the following information, determine under LIFO valuation (a) ending inventory
of 120 units and (b) its cost of goods sold.

Beginning inventory 100 units @ $15 = $1,500

Apr. 30 100 units @ 17 = 1,700
Sept. 30 : 100 units @ 18 = 1,800
Dec. 30 100 units @ 21 = 2,100

Auvailable for sale 400 units $7,100




[image: image16.jpg]Based upon the following information in a rising price market, determine (a) ending inventory
of 260 units under LIFO and (b) the cost of goods sold.

Beginning inventory 100 units @ § 5=3 500

Mar. 30 purchase 100 units @ = 600
Sept. 30 purchase 100 units @ = 800
Nov. 30 purchase 100 units @ = 900
Dec. 30 purchase 100 units @ 12 = 1,200

500 units $4,000




Extra Problems
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Date Units Unit Price Total Cost Moving Average
1 Jan. 200 $1.00 $200 $1.00

31 Jan. 300 1.10 330 1.06

28 Feb. 400 1.16 464 1.10

31 Mar. 100 1.26 126 1.12

c: See Table 6. The moving average for each addition to stock is obtained by
summing the total cost column and dividing by the number of units. The moving
average for the period is the last moving average, which is $1.12. Thus

ending inventory value = (ending inventory)(unit cost)
= 300(1.12)
= $336,
cost of goods sold = (units issued)(unit cost)
= $700(1.12)
= $784.

Note how the weighted average and the moving average are true averages that result
in the same costs. On the other hand, the simple average results in a slight distortion
of costs.

EXAMPLE 6

From the perpetual inventory record in Table 7, what are the ending inventory value
and the cost of goods sold for the item?

Table 7. Perpetual inventory record (moving average)

Received Issued Balance

Unit Total Unit  Total Unit Total

Date Units  Cost Cost Units  Cost Cost | Units Cost® Cost
1 Jan. 200 $1.00 $200
31 Jan. 300 $1.10 $330 500 1.06 530
3 Feb. 400 $1.06 $424 100 1.06 106
28 Feb. 400 1.16 464 500 1.14 570
1 Mar. 300 1.14 342 200 1.14 228
31 Mar. 100 1.26 126 300 1.18 354

“The balance unit cost is the moving average which is obtained by dividing the number of
units on balance into the balance total cost.

The cost of goods sold is the sum of the total costs for issues, or $766
(3424 + $342). The value of ending inventory is obtained from the final amount in
the balance total cost column: $354 for 300 units.




[image: image23.jpg]1.

At the end of football season, Big Red Sports Supply conducted a physical
count of footballs. An ending inventory of 15 footballs was indicated. During
the season the inventory reports revealed the following data:

Quantity Unit Cost Total Cost
Beginning Inventory 50 $30.00 $1,500.00
1st receipt 10 31.00 310.00
2nd receipt 25 31.50 7817.50
3rd receipt 30 32.00 960.00
4th receipt 20 33.00 660.00
Total 135 $4,217.50

If FIFO is used, what is the value of cost of goods sold for Big Red Sports
Supply? What is the value of the ending inventory?

What would be the value of cost of goods sold and ending inventory in
Problem 1 if the simple average method were used?

What would be the value of cost of goods sold and ending inventory in
Problem 1 if the weighted average method were used?

What would be the value of cost of goods sold and ending inventory in
Problem 1 if the LIFO method were used?

Using the answers obtained in Problems 1-4, which method would you use
during a period of rising costs if you were concerned with taxes? If you were
concerned with maximizing profits?

Sheep farmer Smith uses a perpetual inventory system to keep track of his
sheep as he buys and sells them at the stockyards. Below is a table of the sales
and purchases of sheep for the month of May. (Assume no loss of herd to
wolves.) What would be the value of cost of goods sold and ending inventory,
utilizing the FIFO method?

Sheep Unit Sheep Unit
Date Purchased Price Sold Balance

1 100¢
4 200 $110.00 300
10 175 125
12 250 120.00 375
19 275 100
21 100 125.00 200
22 50 150
27 100 50

31 150 130.00 200





Cases
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From the issues and receipts data in Problem 6, develop a perpetual inventory
record on the LIFO basis for the month of May. What would be the value of
cost of goods sold and ending inventory for the month of May?

The Irwin Manufacturing Corporation maintains a periodic inventory system.
A physical count of one of its products indicated an ending inventory of 650
units. During the time interval, the inventory card revealed the following data:

Quantity Unit Cost Total Cost
Beginning inventory 1200 $14.00 $16,800
1st receipt 800 15.50 12,400
2nd receipt 950 15.60 14,820
3rd receipt 900 15.80 14,220
4th receipt 1100 17.00 18,700
Total 4950 $76,940

If the FIFO method is used, what is the value of the ending inventory? What is
the cost of goods sold for the product?

What would be the ending inventory value in Problem 8 if the LIFO method
were used? What would be the cost of goods sold for the product?

The issues and receipts on an item for the month of October are shown in the
table. Develop a perpetual inventory record on the FIFO basis for the month
of October. What is the value of the ending inventory? What is the cost of
goods sold?

Date Unit Receipts Unit Cost Unit Issues Unit Balance

1 50{1
2 400 $2.60 450
8 375 i)
9 50 2.80 125

11 175 2.85 300

20 255 45

25 75 2.95 120

31 50 70

“At $2.50.

From the issues and receipts data in Problem 10, develop a perpetual inventory
record on the LIFO basis for the month of October. What is the value of the
ending inventory? What is the cost of goods sold?

L and S Imports sells custom made sports cars to the elite of Nichols Hills.
Because of the high unit cost, a small number are kept in inventory. Which
inventory method should be used?




[image: image25.jpg]CASE 1: LOOSE SECURITY AND EMPLOYEE THEFT

The Westside Automotive Company repairs automobiles and sells related parts and
equipment. The owner, Bill Westside, recently read an article in a newspaper about
employee theft. He decided to conduct a study to see if Westside had a theft
problem. Bill was shocked when he discovered a substantial amount of money was
being lost due to theft. He immediately began a program to tighten control.

Part of the new control procedure was to spot check employees’ vehicles as they
left work for the day. When the contents of one mechanic’s pickup truck were
examined, ten boxes of spark plugs, ten sets of points, three distributor caps, and
two sets of new spark plug wires were discovered. Further investigation revealed
that Bob Gavin, the mechanic, was operating a small repair shop in his garage with
parts and equipment stolen from Westside.

Because Gavin had been with the company 15 years and was one of the best
mechanics in the area, the company decided to handle the matter internally, instead
of reporting it to local authorities. Gavin was asked to appear before a group of
three people: Bill Westside; John Stephens, a union representative; and Alan Jones,
the personnel manager. Gavin’s only defense was that everybody took parts and
supplies from the company quite frequently. A thorough investigation found this to
be correct. The company accountant estimated that about $6000 in supplies and
equipment had been stolen within the last 12 months.

After considering all the factors and implications of the situation, the personnel
manager recommended that Gavin be fired. This, he claimed, would set an example
for the other employees. John Stephens argued against firing Gavin. He contended
that, through lax control procedures, Westside actually encouraged theft. He also
argued that since theft was so widespread, it would be unfair to single out Bob
Gavin. Bill Westside was very concerned about losing his best mechanic.

1. What action would you recommend against Gavin? Why?

2. Could the situation have been prevented? How?

3. Is this type of theft common in organizations?

4. What security precautions would you implement for the company?





